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1.

[1] [2]

[3] [4]

[5]
Sol. [3]

2.

[1] [2]

[3] [4]

[5]

Sol. [2]

3.

[1]

[2]

[3]

[4]

[5]
Sol. [2]

298 B.C, 

512 A.D, ( )

( ) 

4. ( ) 

[1] [2]

[3] [4]

[5]
Sol. [3]

( ), 
( ), 

1. Which of the Harappan sites is not situated
in India?

[1] Manda [2] Alamgirpur

[3] Chanhudaro [4] Daimabad
[5] Question Not Attempted

Sol. [3]
Manda-Jammu, Alamgirpur-Uttar Pradesh,
Chanhudaro-Sindh (Pakistan), Daimabad-
Maharashtra.

2. Which one of the following is Vedic
literature?
[1] Ramayana [2] Aranyaka
[3] Purana [4] Vedanga
[5] Question Not Attempted

Sol. [2]
Vedanga, Smriti, Purana, Ramayana,
Mahabharata are not Vedic literature.

3. The first Jain council organized at Pataliputra
during the reign of Chandragupta Maurya
was presided by-
[1] Devardhiv Kshamashraman
[2] Sthulabhadra
[3] Sudharman
[4] Haribhadra Suri
[5] Question Not Attempted

Sol. [2]
Jain Councils-
First : 298 B.C, Ruler : Chandragupta Maurya
Location : Patliputra, Presided by:
Sthulabhadra
Jainism divided into Shwetambar and
Digambara.
Second : 512 A.D, Location : Vallabhi (Gujarat)
Presided by : Devardhi Kshamashraman

Jain literature (Aagam) was compiled in it.

4. In which period the first Ardhanarishwar
(Shiva-Shakti) idol was made?

[1] Mauryan period [2] Kushan period

[3] Gupta period [4] Satavahana period

[5] Question Not Attempted

Sol. [3]

Gupta Religion

State Religion : Vaishnava, Symbol : Garuda.

Ardhanarishwar idol (half Shiva, half Shakti),
Harihar idol (Vishnu and Shiva), Harmony
between Shaivism and Vaishnavism religion.
Jainism and Buddhism also expanded.
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5. By which ruler was the post named ‘Naib-e-
Mumlikatta’ created?
[1] Iltutmish [2] Balban
[3] Bahramshah [4] Alauddin Khilji
[5] Question Not Attempted

Sol. [3]
Etgin was appointed the first Naib-e-
Mumlikatta.

6. Which ruler built the Hazara Swamy temple
in the Vijayanagara Empire?
[1] Krishnadevaraya [2] Harihar
[3] Achyutdevaraya [4] Devaraya-II
[5] Question Not Attempted

Sol. [4]

Devaraya-II was the ruler of the Sangam
dynasty (1425-46 AD).

7. The person not related to the Deoband
movement which was launched with the aim
of reforming the Islam and involving
Muslims in the national movement is-
[1] Shibli Numani
[2] Rashid Ahmed Gangohi
[3] Mirza Ghulam Ahmed
[4] Muhammad Qasim Nanautvi
[5] Question Not Attempted

Sol. [3]
Mirza Ghulam Ahmed started the Ahmadiyya
Movement/Qadian Movement from Punjab
whose objective was to establish the true form
of Islam.
Deoband Movement / Darul-Uloom
Movement-
Muhammad Qasim Nanautvi and Rashid
Ahmed Gangohi started from Deoband (Uttar
Pradesh) with the aim of reforming the Islam
and connecting Muslims with the national
movement. Scholar Shibli Numani was its
supporter.

8. Match the following-
Newspaper Founder

A. Maryada i. Konda Vainkatappaya
B. Indian Nation ii. Madan Mohan Malviya
C. Krishna Patrika iii. Dada Bhai Naoroji
D. India iv. Shashipad Banerjee

v. Kameshwar Singh
Code :

A B C D A B C D
[1] iii iv i ii [2] ii v i iii
[3] iii v iv i [4] ii i iii v
[5] Question Not Attempted

5.

[1] [2]

[3] [4]

[5]
Sol. [3]

6.

[1] [2]

[3] [4] II

[5]
Sol. [4]

II 1425-46 
7.

[1]

[2]

[3]

[4]

[5]
Sol. [3]

( ) 

8.

A. i.
B. ii.
C. iii.
D. iv.

v.

A B C D A B C D
[1] iii iv i ii [2] ii v i iii
[3] iii v iv i [4] ii i iii v
[5]
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Sol. [2]

Newspaper and Founder

• Maryada - Madan Mohan Malviya.
• Indian Nation-From Patna by Raja

Kameshwar Singh of Darbhanga .
• Krishna Patrika – Telugu newspaper,

founded by Konda Vainkatappaya in
collaboration with Vayu Narayana Rao.

• India - Published in English in Britain by
Dadabhai Naoroji.

Shashipad Banerjee published 'Bharat Shramjeevi'.

9. Which of the following institutions was
established before the independence of
India?

[1] Indian Institute of Science

[2] Bharat Electronics Limited

[3] Indian Space Research Organization

[4] Hindustan Shipyard Limited

[5] Question Not Attempted

Sol. [*]

Indian Institute of Science (1909)

Hindustan Shipyard Limited- 1941

10. In the Gaya session of the Congress in 1922,
the Congress got divided into two parts, the
Non-changers and the Pro-changers. Who
among the following was a Non-changers
leader?

[1] Vallabhbhai Patel

[2] Madan Mohan Malviya

[3] Vitthal Bhai Patel

[4] Lala Lajpat Rai

[5] Question Not Attempted

Sol. [1]

Gaya Convention - 1922

President - Chittaranjan Das

Prochangers: They were in favor of
participating in elections so that the wrong
policies of the government can be opposed.

Leaders : C.R. Das, Madan Mohan Malaviya,
Vitthal Bhai Patel, Lala Lajpat Rai, Motilal
Nehru etc.

Nochangers : They supported Gandhiji's
constructive work and opposed participation
in elections.

Sol. [2]

•

•

•

•

9.

[1]

[2]

[3]

[4]

[5]

Sol. [*]

1909

1941

10. 1922 

[1]

[2]

[3]

[4]

[5]

Sol. [1]

- 1922, 
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11. Who is known for organising "Janta Darbar
in Rajasthan while being the Governor?

[1] Nirmal Chandra Jain

[2] Darbara Singh

[3] Madanlal Khurana

[4] N.L. Tiberwal

[5] Question Not Attempted

Sol. [3]

 Madanlal Khurana was former Chief
Minister of delhi.

 He was called " Lion of Delhi"

12. Select the group of Chief Ministers who took
oath as Chief Minister for three or more times.

[1] Bhairon Singh Shekhawat-Haridev Joshi-
Shivchandra mathur.

[2] Ashok Gehlot - Bhairon Singh Shekhawat
- Shivchandra Mathur

[3] Mohanlal Sukhadia - Haridev Joshi -
BhaironSingh Shekhawat

[4] Jai Narayan Vyas - Mohanlal Sukhadia -
Ashok Gehlot

[5] Question Not Attempted
Sol. [3]

 Bhairon Singh Shekhawat - 1977-1980,
1990-1992, 1993-1998

 Mohanlal Sukhadia - 1954-1957, 1957-1962,
1962 - 1967, 1567-1971

 Haridev Joshi - 1973-1977, 1985-1988, 1989-
1990.

 Ashok Gehlot - 1998-2003, 2008-2013, 2018

13. Who administers Oath of Parliamentary
Secretory in State legislative Assembly?

[1] Chief Justice

[2] Governor

[3] Legislative Assembly Speaker

[4] Chief Minister

[5] Question Not Attempted

Sol. [4]

11.

[1]

[2]

[3]

[4]

[5]

Sol. [3]





12.

[1]

[2]

[3]

[4]

[5]

Sol. [3]

 1977-1980, 1990-1992, 1993-
1998

 1954-1957, 1957-1962,
1962 - 1967, 1567-1971

 1973-1977, 1985-1988, 1989-
1990

 1998-2003, 2008-2013, 2018

13.

[1]

[2]

[3]

[4]

[5]

Sol. [4]
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14. Arrange the following Chief Justice of
rajasthan in chronological order-

A. Justice Amitabh Roy

B. Justice Jagdish Bhalla

C. Justice Arun Mishra

D. Justice Deepak Verma

[1] A, C, B, D [2] A, B, C, D

[3] B, C, D, A [4] D, B, C, A

[5] Question Not Attempted

Sol. [4]

 Deepak Verma - March 2009 - May
2009

 Jagdish Bhalla - 2009 - 2010

 Arun Mishra - 2010 - 2012

 Amitabh Roy - 2013 - 2014

15. Who amorg the following have been the chief
Secretary of Rajasthan?

A. Bhagwant singh Mehta

B. Gopal Krishna Bhanot

C. Sanwaldan Ujjwal

D. H. M. Mathur

Select the correct option -

[1] A, B and C [2] B, C and D

[3] A, C and D [4] All of the above

[5] Question Not Attempted

Sol. [4]

ª Bhagwant Singh Mehta - 1958 to 1964 and
1965 to 1966

ª Sanwaldan Ujjwal - 1964 to 1965

ª Gopal Krishna Bhanot - 1977 to 1980

ª H.M. Mathur - 1994

16. Sadik Ali Committee in Rajasthan is related
to-
[1] Study Panchayatiraj System
[2] Study Cooperative Society System
[3] Study Higher Education System
[4] None the above
[5] Question Not Attempted

Sol. [1]
Sadik Ali committee constituted in 1964.

14.

A.

B.

C.

D.

[1] A, C, B, D [2] A, B, C, D

[3] B, C, D, A [4] D, B, C, A

[5]

Sol. [4]

 2009 2009

 2009 - 2010

 2010 - 2012

 2013 - 2014

15.

A.

B.

C.

D.

[1] A, B  C [2] B, C  D

[3] A, C  D [4]

[5]

Sol. [4]

 1958 1964 1965
1966

 1964 1965

 1977 1980

 1994

16.

[1]

[2]

[3]

[4]

[5]

Sol. [1]

1964
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17.

A.

B.

[1] A [2] B

[3] A B [4]

[5]

Sol. [3]

 326

 1951

18.

 

A.

B.
62

65

C.
 

[1] A B [2] B C

[3] C [4] A, B C

[5]

Sol. [3]

 315 (1)

 315 (2)



 62

  

17. Right to vote is-

A. Constitutional Right

B. Legal Right

Select the correct option-

[1] A only [2] B only

[3] A and B [4] None

[5] Question Not Attempted

Sol. [3]

 Right to vote mentioned in Article - 326 of
constitution.

 It is also mentioned in Representation of
perople Act, 1951

18. Consider the following statements about the
State Public Service Commission and Joint
State Public Service Commission.

A. The Constitution makes a provision about
State Public Service Commissions whereas
makes no provision for Joint State Public
Service Commissions.

B. The age limit to hold office for State Public
Service Commission is 62 years  whereas it
is 65 years for the members of Joint State
Public Service Commission.

C. The Chairperson and members of both
State Public Service Commission and Joint
State Public Service Commission can be
removed by President.

Select the correct statement-

[1] A and B [2] B and C

[3] C only [4] A, B and C

[5] Question Not Attempted
Sol. [3]

 Article 315 (1) : Union and State Public
Service Commission.
Article 315 (2) : Joint State Public Service
Commission.

 Age limit for both State Public Service
Commission and Joint State Public Service
Commission is 62 years.

 Chairperson and members of Joint State
Public Service Commission are appointed
by President.
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19.

A.

B.

C.

D.

[1] A B [2] C D

[3] B C [4] A D

[5]

Sol. [4]



20.

[1] [2]

[3] [4]

[5]

Sol. [2]

21. (i) (ii) 

(i) (ii)

A. (i)

B. (ii)

C. (iii)

D. (iv)

A B C D A B C D

[1] (i) (ii) (iii) (iv) [2] (ii) (i) (iv) (iii)

[3] (ii) (iv) (iii) (i) [4] (i) (ii) (iv) (iii)

[5]

Sol. [2]

19. Who among the following are under the
Jurisdiction of Lokayukta ?

A. Presiduet of UIT

B. Accountant General, Rajasthan

C. Secretariate

D. Deputy Mayor

[1] A and B [2] C and D

[3] B and C [4] A and D

[5] Question Not Attempted

Sol. [4]

 Jurisdiction - Ministers, Public servants,
Panchyat Sammiti Pramukh, Mayor,
President and VP of Municipal Council etc.

20. Who was the Ist Uplokayukta of Rajasthan?

[1] M.L. Shaimal [2] K. P. U. Menon

[3] P. D. Kudol [4] S. S. Kothari

[5] Question Not Attempted

Sol. [2]

He served as Uplokayukta from 1973 to 1974

He was the former Chief Secretary.

21. Match List 1 with List 2 and select the correct
answer from the code given below:

List (i) List (ii)

(Tributary) (Main river)

A. Mahananda (i) Yamuna

B. Tons (ii) Ganga

C. Koyna (iii) Godavari

D. Manjara (iv) Krishna

A B C D A B C D

[1] (i) (ii) (iii) (iv) [2] (ii) (i) (iv) (iii)

[3] (ii) (iv) (iii) (i) [4] (i) (ii) (iv) (iii)

[5] Question Not Attempted

Sol. [2]
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22.

A.

B.

C.

[1] A B [2] A

[3] B C [4] A C

[5]

Sol. [2]

(1981)

23.

A.

B.

[1] A [2] B

[3] A B [4] A B

[5]

Sol. [3]

24.

A.

B.

[1] A [2] B

[3] A B [4] A B

[5]

Sol. [3]

22. Consider the following statements with reference
to India’s famous Chilka Lake (Odisha):

A. Chilka Lake is the first wetland of India
protected under the Ramsar Convention.

B. Presently Chilka Lake has been included
in the list of Montreux Records.

C. Chilka is the largest wetland in India under
the Ramsar Convention.

Which of the above statements is/are correct:

[1] A and B only [2] A only

[3] B and C only [4] A and C only

[5] Question Not Attempted

Sol. [2]

Chilka Lake is the first wetland of India
protected under the Ramsar convention.
(1981)

Chilka Lake is not included in the Montreux
records. The largest Ramsar wetland in
India is the ‘Vembanad Lake’ of Kerala.

23. Consider the following statements regarding
Dandakaranya Plateau -

A. It is called Bastar Plateau in Chhattisgarh
and Kalahandi Plateau in Odisha.

B. Iron ore fields Bailadila and Dalli Rajhara
are situated on this plateau.

Correct statements from above is/are-

[1] A only [2] B only

[3] Both A and B [4] Neither A nor B

[5] Question Not Attempted

Sol. [3]

24. Consider the following statements-

A. Most reserves of manganese in India are
found in the state of Odisha.

B. Madhya Pradesh is the top producer state
of Manganese in India.

Select the correct statement-

[1] A only [2] B only

[3] Both A and B [4] Neither A nor B

[5] Question Not Attempted

Sol. [3]
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25.
A.

B.

[1] A [2] B
[3] A B [4] A B
[5]

Sol. [2]
26. 24 100% 

22 

[1] %
4

3
91 [2] %

4

1
91

[3] %91
3

1
[4] 91 %

2
3

[5]
Sol [4]

24 = 100% 

1 =  %
24

100

22 = 
100 2

22 91 %
24 3

 

27. 60,000, 5% 
10% 

7% 
[1] Rs. 2,00,000 [2] Rs. 1,50,000
[3] Rs. 1,00,000 [4] Rs. 3,40,000
[5]

Sol [3]
= 60000, = 5%

= x, = 10%

5 10 7
60000 (60000 )

100 100 100
x x      

30,0000 + 10x = 420000 + 7x
3x = 120000
x = 40000

= 60000 + 40000 = 100000 
Method - II : 

= 60000 + 40000 = 1,00,000 

25. Consider the following statements-
A. The highest production of tea in the

country is in the state of Tamil Nadu.
B. India ranks second in tea production in the

world.
Select the correct statement-
[1] A only [2] B only
[3] Both A and B [4] Neither A nor B
[5] Question Not Attempted

Sol. [2]
26. If 24 carat gold is considered 100% pure gold,

then find the percentage of pure gold in 22
carat gold?

[1] %
4

3
91 [2] %

4

1
91

[3] %91
3

1
[4] 91 %

2
3

[5] Question Not Attempted
Sol [4]

24 carat gold = 100% pure

1 carat gold = %
24

100
 pure

So 22 carat gold = 
100 2

22 91 %
24 3

  pure

27. Mohan  invested Rs. 60,000  at 5% simple
interest and another sum at 10%. If the total
interest amount received at the end of the
year is 7% of the total principal, then find
the total amount invested.
[1] Rs. 2,00,000 [2] Rs. 1,50,000
[3] Rs. 1,00,000 [4] Rs. 3,40,000
[5] Question Not Attempted

Sol [3]
Principal = 60000, Rate = 5%
Let other principal = x, Rate = 10%
According to Question,

5 10 7
60000 (60000 )

100 100 100
x x      

30,0000 + 10x = 420000 + 7x
3x = 120000
x = 40000
So total amount = 60000 + 40000 = Rs. 100000
Method - II : By Mixture Rule

So total amount = 60000 + 40000 = Rs.1,00,000
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28. 10000 3 5% 

[1] Rs.  76.25 [2] Rs. 76.75
[3] Rs. 76.50 [4] Rs. 76
[5]

Sol [1]

4

305

)100(

3052510000

)100(

)300(
33

2








rrp

I

= 76.25
Method-II : 5%, 3 = 15%

5%, 3 = 15. 7625%

0.7625% 

10000 × 
0.7625

100
  76.25

29. 6, 7, 15, 17 

[1] 6 [2] 5

[3] 4 [4] 3

[5]

Sol [4]

x 

(6 + x) : (7 + x) :: (15 + x) : (17 + x)
(6 + x) (17 + x) = (7 + x) (15 + x)
102 + 6x + 17x + x2 = 105 + 7x + 15x + x2

23x – 22x = 105 – 102
x = 3

Method-II :

3
1

3

2223

102105







Method-III : Option check 

6 + 3 : 7 + 3 = 15 + 3 : 17 + 3
9 : 10 = 18 : 20
9 × 20 = 10 × 18
180 = 180

30. 8 
6 7

5 

[1] 48 : 35 [2] 28 : 15

[3] 24 : 20 [4] 20 : 21

[5]

28. The difference between the compound
interest and the simple interest on Rs. 10000
for 3 years at 5% per annum is-
[1] Rs.  76.25 [2] Rs. 76.75
[3] Rs. 76.50 [4] Rs. 76
[5] Question Not Attempted

Sol [1]

4

305

)100(

3052510000

)100(

)300(
33

2








rrp

I

= 76.25
Method-II : 5%, simple interest for 3 years =
15%
5% compound interest for 3 years = 15.7625%
So clearly the  difference = 0.7625%.

Hence, 10000 × 
0.7625

100
Rs. 76.25

29. What number is to be added to each of the
numbers 6, 7, 15, 17 that the all four numbers
become proportional?
[1] 6 [2] 5
[3] 4 [4] 3
[5] Question Not Attempted

Sol [4]
Let the numbers become proportional on add-
ing x.
(6 + x) : (7 + x) :: (15 + x) : (17 + x)
(6 + x) (17 + x) = (7 + x) (15 + x)
102 + 6x + 17x + x2 = 105 + 7x + 15x + x2

23x – 22x = 105 – 102
x = 3

Method-II :
Cross Multiplication Difference
       Cross addition difference
= (15 × 7) – (17– 6)
  (17 + 6) – (15 + 7)
Method-III: On checking the option
6 + 3 : 7 + 3 = 15 + 3 : 17 + 3
9 : 10 = 18 : 20

9 × 20 = 10 × 18

180 = 180

30. Tom is following Jerry. When Tom jumps 8
times, Jerry jumps 6 times. But the distance
covered by Tom in 7 jumps is equal to Jerry's
5 jumps. Find the ratio of their speeds.

[1] 48 : 35 [2] 28 : 15

[3] 24 : 20 [4] 20 : 21

[5] Question Not Attempted



Page 12

Sol [4]
T J
8 6
7 5

 
        (8×5)            (7×6)

 40 42
20         : 21

31. 360 2 250
2 8 

[1] cm
5

1
6 [2] cm

3

1
6

[3] cm
3

2
6 [4] 6 cm

[5]

Sol [3]

= 36 : 25

= 6 : 5 6x : 5x

6x = 8     
6

8
x

 = 5x  
28

5 6
6 3

  

32. 18 
16 

[1] 20 [2] 22

[3] 24 [4] 26

[5]

Sol [4]

5 = 5 × 18 = 90

4 = 4 × 16 = 64

= 90 – 64 = 26

33. 12 
 25 

[1] 30 [2] 34

[3] 32 [4] 38

[5]

Sol [4]
T J
8 6

7 5

 
        (8×5)            (7×6)

 40 42
20         : 21

31. The areas of two equilateral triangles are 360
cm2 and 250 cm2. If the side of the first triangle
is 8 cm then find the side of the other
triangle?

[1] cm
5

1
6 [2] cm

3

1
6

[3] cm
3

2
6 [4] 6 cm

[5] Question Not Attempted
Sol [3]

Ratio of area = 36 : 25
Thus, ratio of sides = 6 : 5 or 6x : 5x
According to question, 6x = 8

                 
6

8
x

Arm of the other  = 5x 
28

5 6
6 3

    cm.

32. The average of five numbers is 18. If a
number is dropped then the average becomes
16. Find the dropped number-
[1] 20 [2] 22
[3] 24 [4] 26

[5] Question Not Attempted
Sol [4]

Sum of 5 numbers = 5 × 18 = 90
Sum of remaining 4 numbers = 4 × 16 = 64

Thus number dropped = 90 – 64 = 26
33. The Geometric mean of two numbers is 12.

The sum of their Arithmetic mean and
Harmonic mean is 25, then find the sum of
both the numbers ?
[1] 30 [2] 34
[3] 32 [4] 38

[5] Question Not Attempted
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Sol [3]
G = 12 ; A + H = 25
 G2 = AH
 144 = A (25 –A)

144 = 25A – A2

     (A-9) (A-16) = 0
           A = 9,  16

A = 9 
A = 9 H= 25-A = 16

(H.M) 
(A.M) 

 

2

ba
= a + b = 32

34. 5 4 3 3

[1] 40 [2] 80
[3] 20 [4] 120

[5]
Sol [1]

404
2

45
3

4
3

5 


 CC

35. 1, 2, 3..........30 

[1] 1/5 [2] 1/3
[3] 2/5 [4] 2/3
[5]

Sol [2]
1 30 10 (2, 3, 5, 7, 11, 13, 17,
19, 23, 29)

3

1

30

10


36.

A. i.

B. ii.

C. iii.

D. iv.

A B C D A B C D

[1] ii iv i iii [2] iii iv i ii

[3] ii iii iv i [4] iii iv ii i

[5]

Sol. [3]

Sol [3]
G = 12 ; A + H = 25
 G2 = AH
 144 = A (25 –A)

144 = 25A – A2

     (A-9) (A-16) = 0
           A = 9,  16

A = 9 why not ?
If A = 9, then H = 25-A= 16

Because, the value of Harmonic Mean cannot
be more than Arithic Mean.

 

2

ba
16 = a + b = 32

34. How many ways are there to make teams of 3
boys and 3 girls out of 5 boys and 4 girls?
[1] 40 [2] 80
[3] 20 [4] 120
[5] Question Not Attempted

Sol [1]

404
2

45
3

4
3

5 


 CC

35. Out of the numbers 1, 2, 3..........30, if a number
is selected, find the probability that it is a
prime number.
[1] 1/5 [2] 1/3
[3] 2/5 [4] 2/3

[5] Question Not Attempted
Sol [2]

10 prime numbers from 1 to 30 are (2, 3, 5, 7,
11, 13, 17, 19, 23, 29).

So the probability
3

1

30

10


36. Match the following-

Major Peaks Location

A. Bilali i. Sirohi

B. Barwara ii. Alwar

C. Saiyara iii. Jaipur

D. Achalgarh iv. Udaipur

A B C D A B C D

[1] ii iv i iii [2] iii iv i ii

[3] ii iii iv i [4] iii iv ii i

[5] Question Not Attempted

Sol. [3]
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37.

[1]

[2]

[3]

[4]

[5]

Sol. [4]

38.

A. AW- B. BWhw-

C. Bshw- D. Cwg-

[1] A,C, D [2] C, D

[3] B, C, D [4] A, C

[5]

Sol. [2]

AW - 

BWhw - 

39.

[1] [2]

[3] [4]

[5]

Sol. [1]

40.

A. i.

B. ii.

C. iii.

D. iv.

A B C D A B C D

[1] ii iv i iii [2] iii iv i ii

[3] iii iv ii i [4] ii iv iii i

[5]

37. Identify the mismatched pair-

[1] Shekhawati - Beed

[2] Jalore -Nehar Marshy Area

[3] Sambhar Lake - Balsan

[4] Rajsamand - Hathi Naal

[5] Question Not Attempted

Sol. [4]

Hathi Naal is located in Udaipur while Hathi
Guda Naal is located in Rajsamand.

38. According to Köppen’s climate classification,
which of the following are correctly matched-

A. AW-Bundi B. BWhw-Barmer

C. Bshw-Nagaur D. Cwg-Bharatpur

[1] A,C, D [2] C, D

[3] B, C, D [4] A, C

[5] Question Not Attempted
Sol. [2]

AW - Kota, Baran, Jhalawar, Banswara,
Dungarpur, Pratapgarh
BWhw - Jaisalmer, Bikaner, Churu,
Ganganagar, Hanumangarh

39. Which district receives the highest average
rainfall in Rajasthan?

[1] Jhalawar [2] Sirohi
[3] Baiswara [4] Udaipur
[5] Question Not Attempted

Sol. [1]

The highest average rainfall in Rajasthan is in
Jhalawar district while Mount Abu (Sirohi)
gets the highest rainfall .

40. Match the following-

River Origin District

A. Western Banas i. Pali

B. Sabarmati ii. Bhilwara

C. Mej iii. Sirohi

D. Mithdi iv. Udaipur

A B C D A B C D

[1] ii iv i iii [2] iii iv i ii

[3] iii iv ii i [4] ii iv iii i

[5] Question Not Attempted
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Sol. [3]

41.

A.

B.

C.

D.

[1] [2]

[3] [4]

[5]

Sol. [4]

42.

[1]

[2]

[3]

[4]

[5]

Sol. [4]

43.

[1]

[2]

[3]

[4]

[5]

Sol. [3]

84.8%,

(15.2%)

Sol. [3]

West Banas-New Sanpara (Sirohi)

Sabarmati - Padrana Hill (Udaipur)

Mej - Bhilwara

Mithdi - Pali

41. How many pairs are mismatched ?

A. Som-Kagdar Project-Dungarpur

B. Pichiyak Dam-Sumerpur (Pali)

C. Isarda Dam Project - Tonk

D. Panchna Dam - Sawai Madhopur

[1] Only one pair

[2] Only two pairs

[3] Only three pairs

[4] All four pairs

[5] Question Not Attempted

Sol. [4]

Som-Kagdar Project - Udaipur

Pichiak Dam - Jodhpur (Luni)

Isarda Dam Project-Sawaimadhopur (Banas)

Panchna Dam-Karauli (Gambhir River)
42. Select the mismatched pair -

[1] Sambhar Lake-Turtamanti River
[2] Ghaggar River - Nate River
[3] Banganga River-Tala River
[4] Ruparel River – Ajan Dam

[5] Question Not Attempted

Sol. [4]

The Ajan Dam is situated on the Banganga and
Gambhir river in Bharatpur.

43. Identify the mismatched pair-

Multipurpose Contributing state with
Project Rajasthan

[1] Chambal - Madhya Pradesh
[2] Mahi - Gujarat
[3] Bhakra-Nangal - Punjab, Himachal

Pradesh
[4] Beas - Punjab, Haryana
[5] Question Not Attempted

Sol. [3]

Bhakra Nangal Multipurpose Project - Punjab,
Haryana 84.8%, Rajasthan (15.2%)
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44.

1.
2.
3.
4.
[1] [2]

[3] [4]

[5]

Sol. [3]

45.

A. i.
B. ii.
C. iii.
D. iv.

v.
A B C D A B C D

[1] i ii iii iv [2] ii v iv i
[3] iv iii i ii [4] v i ii iv
[5]

Sol. [3]

46.

A. B.

C. D.

[1] A, B, C [2] B, C, D

[3] A, B, D [4] A, B, C, D

[5]

Sol. [2]

44. Select the number of mismatched pairs-
1. Benthli Project -  Baran
2. Tordi Sagar Project -  Dausa
3. Narayan Sagar Project - Alwar
4. Lhasi Project -  Bundi
[1] only one pair [2] only two pairs
[3] Only three pairs [4] All four pairs

[5] Question Not Attempted

Sol. [3]

Tordi Sagar - Tonk

Narayan Sagar - Ajmer

Lhasi - Baran
45. Match the following pairs-

Minerals Location
A. Copper i. Nathra ki Pal
B. Silver ii. Talwara
C. Iron ore iii. Gudha Kishoridas
D. Manganese iv. Banno ki Dhani

v. Kesarpura

A B C D A B C D

[1] i ii iii iv [2] ii v iv i

[3] iv iii i ii [4] v i ii iv

[5] Question Not Attempted

Sol. [3]

Mineral Location

Copper - Banno Dhani

Silver - Gudha Kishoridas

Iron Ore - Nathra ki Pal

Manganese - Talwara

46. Choose the petroleum field from the
following, which are related to ONGC-

A. Baghewala B. Sadhewala

C. Tanot D. Chinnewala

[1] A, B, C only [2] B, C, D only

[3] A, B, D only [4] A, B, C, D

[5] Question Not Attempted

Sol. [2]

The above mentioned four areas are petroleum
fields located in Jaisalmer.

Baghewala is a petroleum field belonging to
PDVSA Company.
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47.

[1] [2]

[3] [4]

[5]

Sol. [2]

48.

A. i.

B. ii.

C. iii.

D. iv.

A B C D A B C D

[1] i ii iii iv [2] iv iii i ii

[3] iii ii iv i [4] ii i iii iv

[5]

Sol. [2]

49.

[1] > > > 

[2] > > > 

[3] > > > 

[4] > > > 

[5]

Sol. [3]

86.9%

86.3%, 86.1%, 85.1%

47. Where is “Rajasthan Telephone Industries”
located in Rajasthan?

[1] Ajmer [2] Bhiwadi

[3] Neemrana [4] Jaipur

[5] Question Not Attempted

Sol. [2]

Telephone Industries is located in Bhiwadi in
Rajasthan.

48. Match the following pairs-

Wildlife Sanctuary Famous Species

A. Shergarh i. Gagaron Parrot

B. Kailadevi ii. Gharial

C.  Darrah iii. Dhok Forest

D. Jawahar Sagar iv. Snake

A B C D A B C D

[1] i ii iii iv [2] iv iii i ii

[3] iii ii iv i [4] ii i iii iv

[5] Question Not Attempted

Sol. [2]

Sanctuary Famous (Places)

Shergarh Wildlife Sanctuary Snake, Shergarh Fort, Parvan 
River (Baran)

Kailadevi Wildlife Sanctuary Dhok forest (Karauli, 
Sawaimadhopur)

Darrah Wildlife Sanctuary Gagron Parrot (Kota, Jhalawar)
Jawahar Sagar Wildlife 
Sanctuary

Gharial (Bundi, Kota, Chittorgarh)

49. Select the option that arranges the following
districts in descending order of male literacy
rate-

[1] Jhunjhunu > Sikar > Kota > Jaipur

[2] Kota > Jhunjhunu > Sikar > Jaipur

[3] Jhunjhunu > Kota > Jaipur > Sikar

[4] Kota > Sikar > Jhunjhunu > Jaipur

[5] Question Not Attempted

Sol. [3]

District with highest male literacy – Jhunjhunu
– 86.9%

Kota-86.3%, Jaipur-86.1%,Sikar-85.1%



Page 18

50.

A.

B.

C.

[1] A, B [2] B, C

[3] A, C [4]

[5]

Sol. [3]

(92.38 ),
(122.21 )

(948)
(928)

51. 17 

[1] 16655km2, 8733km2

[2] 8733km2, 16655km2

[3] 16629km2, 8112km2

[4] 8112 km2, 16629km2

[5]

Sol. [1]

25388km2

16655km2 (4.87%)

8733km2 (2.56%)

52.

1.

2.
3.

[1] [2]

[3] [4]

[5]

50. Consider the following statements related to
Scheduled Castes and Scheduled Tribes in
Rajasthan and choose the incorrect statement:
A. Scheduled Tribes are found more than

Scheduled Castes in the state.
B. The highest percentage of SC and ST is

found in Sriganganagar and Banswara
districts respectively.

C. The sex ratio of the state Scheduled Tribes
is less than the overall average sex ratio of
the state.

[1] A, B only [2] B, C only

[3] A, C only [4] None of these

[5] Question Not Attempted

Sol. [3]

Scheduled Tribes (92.38 lakhs) population is
less in Rajasthan than Scheduled Castes (122.21
lakhs).

The Scheduled Tribe sex ratio of the state (948)
is higher than the overall state average sex ratio
(928).

51. According to the 17th forest census, the area
under forest cover and tree cover in Rajasthan
is respectively-

[1] 16655km2, 8733km2

[2] 8733km2, 16655km2

[3] 16629km2, 8112km2

[4] 8112 km2, 16629km2

[5] Question Not Attempted

Sol. [1]

Total forest area in Rajasthan - 25388km2

Forest Covered Area - 16655km2 (4.87%)

Tree Covered Area - 8733km2 (2.56%)

52. Select the soil on the basis of the following
characteristics-

1. Irrigation is required frequently due to high
percolation of water in this soil.

2. The amount of calcium is maximum in it.

3. It is formed due to the erosion of sandstone
and granite.

Code :

[1] Black soil [2] Alluvial soil

[3] Sandy soil [4] Red-yellow soil

[5] Question Not Attempted



Page 19

Sol. [3]

53.

A.

B. 10 12 

C.

[1] [2]

[3] [4]

[5]

Sol. [4]

10-12 

54.

[1]

[2]

[3]

[4]

[5]

Sol. [*]

55.

A. i. 

B. ii. 

C. iii. 

A B C A B C

[1] i ii iii [2] ii iii i

[3] iii i ii [4] ii i iii

[5]

Sol. [2]

Sol. [3]

Sandy soil is found in Rajasthan mostly, it is
also known as dry or thirsty soil.

It extends to Jaisalmer, Bikaner, Barmer, and
Jodhpur.

Bajra, moong, moth, guar, groundnut, gram
are produced in this.

53. Which traditional water conservation method
has the following characteristics?

A. It is constructed near the pond.

B. It is 10 to 12 meters deep.

C. It is covered for protection.

[1] Bawdi [2] Kundi

[3] Toba [4] Beri

[5] Question Not Attempted

Sol. [4]

These are constructed near the pond from
which the seepage water enters them. Depth-
10-12 meters. Covered for protection. They are
more prevalent in Bikaner, Jaisalmer.

54. Select the mismatched pair-

Tourist Circuit Related Place

[1] Mewar Circuit - Ranakpur

[2] Alwar Circuit - Deeg

[3] Desert Circuit - Jalore

[4] Mount Abu Circuit - Pali

[5] Question Not Attempted

Sol. [*]

55. Match the following-
A. Changes mechanical i. Battery

energy into Electrical
energy

B. Changes electrical ii. Generator
energy into mechanical
energy

C. Changes chemical iii. Motor
energy into energy
electrical
A B C A B C

[1] i ii iii [2] ii iii i
[3] iii i ii [4] ii i iii
[5] Question Not Attempted

Sol. [2]
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56.

[1] CO2 

[2] CO2 

[3] CO2 

[4] CO2 

[5]
Sol. [3]

CO2 

CO2 

57.

AB+ O+

A+, B+, AB+

[1] B+

[2] AB+

[3] A+

[4]
[5]

Sol. [2]

     AB+                                      O+ 

IA+            IB+                   IO                    IO 

    B+          A+              A+                    B+ 

A+ B+ 

AB+ 

58. [A] : 

(R) : 

[1] A R 

[2] A R 

[3] A R R, A 

[4] A R R, A 

[5]

56. Dry ice is used to produce the effect of fog
on stage. This dry ice is obtained by -
[1] rapid freezing of liquid CO2

[2] rapid solidification of vaporized CO2

[3] rapid vaporization of liquid CO2

[4] rapid liquefaction of solid CO2

[5] Question Not Attempted

Sol. [3]

When liquid CO2 is rapidly vaporized it turns

into a solid, which is called solid CO2. Since

it looks like ice, it is called dry ice.
57. A childless couple adoped a child. A few

years after the adoption, they had twin
children. The couple has AB+  and  O+ blood
group. The blood groups of all their three
children are A+, B+, and AB+. What is the
blood group of the adopted child?
[1] B+
[2] AB+
[3] A+
[4]  Insufficient information
[5] Question Not Attempted

Sol. [2]

     AB+                                      O+ 

IA+            IB+                   IO                    IO 

    B+          A+              A+                    B+ 

It is clear from the above diagram that the
blood group of the biological children of the
couple will be A+ or B+. Hence, according to
the options available in the question, the blood
group of the adopted child will be AB+.

58. Assertion [A] : Unsaturated fats are less
injurious to health than saturated fats.

Reason (R) : Unsaturated fats remain in solid
state at room temperature as compared to
saturated fats.

[1] A is correct but R is incorrect.

[2] A is incorrect but R is correct.

[3] Both A and R are correct but R is not the
correct explanation of A.

[4] Both A and R are correct and R is the
correct explanation of A.

[5] Question Not Attempted
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Sol. [1]

1.

2.

59.

[1]

[2]

[3]

[4]

[5]

Sol. [4]

(RADAR : ) 

60. 3

[1] n-3 

[2]

[3]

[4]

[5]

Sol. [4]

1. 1, 2 3 

2. 3 

3. 3 

Sol. [1]

1.   Saturated fats are such fatty acids, which
has single bond  between two carbon
molecules, so they turn into solids at room
temperature, such as palm oil, vegetable
ghee. These are more harmful for the
body.

2. Unsaturated fats are fatty acids that have
double or triple bonds between carbon
molecules, so they remain liquid at room
temperature, such as sunflower oil,
soybean oil, etc. These are comparatively
less harmful to the body.

59. Radar is used for-

[1] Locating geo-stationary satellites

[2] Locating submerged submarines

[3] To detect objects by light waves

[4] To detect the presence and location of
objects by radio waves.

[5] Question Not Attempted

Sol. [4]

(RADAR: Radio Detection and Ranging) is
used to detect the presence and location of
ships and aircraft. Radio waves of
very high frequency are used in radar.

60. Choose the incorrect statement regarding
Omega-3 fatty acid which is considered as a
component of a healthy diet-

[1] It is also called n-3 fatty acid.

[2] Apart from fish oil, it is also found in
sunflower and safflower seeds.

[3] It is a polyunsaturated fatty acid.

[4] This fatty acid essential for metabolism,
can be manufactured in sufficient quantity
in the human body.

[5] Question Not Attempted

Sol. [4]

1.   Statements 1, 2 and 3 are correct.

2. Omega-3 fatty acids are essential for
metabolism but the body cannot
manufacture them on its own. It can be
obtained only through food.

3.  Omega-3 fatty acids are helpful in reducing
the risk of heart diseases.
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61.

A.
B.
C.
D.
[1] A, B, C [2] B, C, D
[3] A, B, D [4]

[5]

Sol. [3]

1.
2.

3.

4.
62. CO2 

A. CO2 
B. (1 atm)

CO2 

[1] A [2] B
[3] A, B [4]

[5]

Sol. [2]

CO2

CO2

CO2

63.

[1]
[2]
[3]
[4]

[5]

Sol. [4]

61. Choose the option from the following which
is related to chemical change only-
A. Conversion of milk into curd
B. Burning of incense sticks
C. Melting of candle
D. Rusting of iron
[1] A, B, C only [2] B, C, D only
[3] A, B, D only [4] All of the above
[5] Question Not Attempted

Sol. [3]

Chemiacal change :- A substance is said to un-
dergo a chemical change when the chemical
properties of a substance alter.
As a result there is either formation or break-
ing of atomic bonds at the molecular level.
1. Conversion of milk into curd is a chemical

change.
2. Burning of incense sticks - Burning of any-

thing is a chemical change.
3. Melting of candle does not undergo for any

chemical change.
4. Rusting of iron is a chemical change.

62. Examine the following statements with
reference to solid CO2 and choose the correct
statement:-
A. Solid CO2 is stored at low pressure.
B. When the value of atmospheric pressure is

1 atm, solid CO2 directly turns into gas
instead of turning into liquid.

[1] A only [2] B only
[3] A, B [4] None of these
[5] Question Not Attempted

Sol. [2]
Solid CO2 is known as dry ice.
Solid CO2 is stored under high pressure.
This is because on decreassing the pressure on
solid corban-di-oxide gets converted directly
into CO2 gas.

63. Which of the following is not correctly
matched-

Water fall River
[1] Stanley - Zaire
[2] Augrabies - Orange
[3] Victoria - Zambezi
[4] Angel - Caroni
[5] Question Not Attempted

Sol. [4]
Angel Falls is located on the Churun, a tribu-
tary of the Caroni river. Caroni is a tributary
of Orinoco river.
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64.

[1]

[2]

[3]

[4]

[5]

Sol. [2]

65.

A. B.

C. D.

[1] D - A - C - B [2] D - B - A - C

[3] C - B - D - A [4] D - C - B - A

[5]

Sol. [2]

66. I II 

I II 

A. i.

B. ii.

C. iii.

D. iv.

A B C D A B C D

[1] i ii iii iv [2] i iii ii iv

[3] iii iv ii i [4] iv iii ii i

[5]

Sol. [4]

64. With reference to the Industrial Regions of
the United States of America which is not
correctly  matched-

Industrial Region Industry

[1] Maryland - Iron-Steel
[2] Boston - Silk textile industry
[3] Chicago - Meat Processing
[4] Portland - Shipbuilding

[5] Question Not Attempted

Sol. [2]

Boston is a major center of the cotton textile
industry.

65. Arrange the following deserts from east to
west.

A. An-Nafud B. Dasht-e-Kavir
C. Nubian D. Takla-Makan
[1] D - A - C - B [2] D - B - A - C
[3] C - B - D - A [4] D - C - B - A

[5] Question Not Attempted

Sol. [2]

An-Nafud: Located in Saudi Arabia.
Dasht-e-Kavir: Located in Iran.
Nubian: Located at the eastern end of the Sa-
hara Desert.
Takla-Makan: Located in China.

66. Match List -I with List-II and select the correct
Sol. using the code given below the lists:

List- I (Mountain) List- II (Location)

A. Mount Merapi i. U.S.A.
B. Sakurajima ii. Italy
C. Mount Vesuvius iii. Japan

D. Mauna Loa iv. Indonesia

Code :

A B C D A B C D

[1] i ii iii iv [2] i iii ii iv

[3] iii iv ii i [4] iv iii ii i

[5] Question Not Attempted

Sol. [4]

All above mountains are stratovolcano
1. Mount Merapi :- Indonesia
2. Sakurajima :- Japan
3. Mount Vesuvius :- Italy

4. Mauna Loa :- Hawaii Island  (U.S.A)
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67.

[1]

[2]

[3]

[4]

[5]

Sol. [1]

68.

[1]

[2]

[3]

[4]

[5]
Sol. [2]

(1989 - 1995) 

69.

A. CPI 

B. 4 CPI-

C. 2022-23 
4.60% 

[1] A  B [2] B

[3] B  C [4] A, B, C

[5]
Sol. [3]

CPI 

70.

A.

B. 2016 2024 

[1] A [2] B
[3] A B [4]

[5]

67. The current Chairman of Rajasthan
Information Commission is –
[1] Devendra Bhusan Gupta
[2] M. L. Lathar
[3] Prakash Tatiya
[4] Suresh Choudhary
[5] Question Not Attempted

Sol. [1]
68. Who among the following was appointed as

the first woman member of Rajasthan Public
Service Commission?
[1] Prakashwati Sharma
[2] Kanta Kathuria
[3] Kamla Bhil
[4] Divya Singh
[5] Question Not Attempted

Sol. [2]
Kanta Kathuria (1989 – 1995) was the first
woman appointed as a member of the
Rajasthan Public Service Commission.

69. Consumer Price Consider the following

statements regarding consumer-

A. CPI does not include goods and services.

B. Every month 4 types of CPI are relased-
CPI for Industrial workers, CPI for
Agricultural Labourer, CPI for  Rural
Labourer and Rural/Urban/Combined.

C. The wholesale price index in Rajasthan has
increased by 4.60% in the year 2022-23.

The correct statements from above are-

[1] A and B [2] B only

[3] B  and C [4] A, B, C
[5] Question Not Attempted

Sol. [3]

CPI includes both Goods and Services.

70. Consider the following statements with

reference to the National Hydrology Project

A. It is funded by the World Bank and the
Central Government.

B. The duration of this scheme is from 2016
to 2024.

The correct statements from the above are-
[1] A only [2] B only
[3] A and B [4] None of the above
[5] Question Not Attempted
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Sol. [3]

71.

[1] 22 2016 [2] 11 2022

[3] 21 2016 [4] 14 2023

[5]

Sol. [2]

22 2016

11 2022

72.

[1] [2]

[3] [4]

[5]

Sol. [3]

(DEPC) 

73. 2022-23 

A. 2022 100 
81.47 

B. 43,264 

C. 99% 
1% 

[1] A [2] B

[3] A C [4]

[5]

Sol. [3]

The objective of this project is to improve
ground water level, measure ground water
quality, compile ground water level data etc.

71. Rajasthan Wasteland and Pasture

Development Board was reconstituted on-

[1] 22 December, 2016 [2] 11 February, 2022

[3] 21, January 2016  [4]  14, February 2023

Sol. [2]

Established - 22 December 2016

Revival – 11 February 2022

72. Under Rajasthan Government’s ‘One District
One Product’ scheme, 'Rice' is related to
which district?

[1] Dholpur [2] Banswara

[3] Bundi [4] Pratapgarh

[5] Question Not Attempted

Sol. [3]

One District One Product:

Objective- To identify and promote products
and services that have export potential.

District level Export Promotion Committee are
constituted in all districts under the
chairmanship of district collector.

73. Consider the following statements in the
context of Economic Review 2022-23-

A. By March 2022, road density is 81.47 km
per 100 sqkm in Rajasthan.

B. All 43,264 villages of Rajasthan have been
linked by roads.

C. By the Public Works Department, 99% road
works are going in rural areas and 1% in
urban areas.

The incorrect statement from the above-

[1] A only [2] B only

[3] A and C only [4] All of the above

[5] Question Not Attempted



Page 26

Sol. [2]

2011 43,264 
2022 38,239 

89.39 

74.

A.

B.

C. SC, ST,

[1] A [2] B

[3] C [4]

[5]

Sol. [4]

GPS CCTV
7 

26 

10 1 
7 

/

75.

A. B.

C. D.

[1] A, B, C, D [2] A, B, D, C

[3] B, A, C, D [4] D, C, B, A

[5]

Sol. [1]

Sol. [2]

The state has 43,264 villages as of Census 2011
and around 38,239 have been linked by roads
as of December 2022, which is 89.39 percent of
the total villages.

74. Consider the following statements-

A. Abhay Command centres have been
established in all districts of Rajasthan.

B. Bhamashah State Data Center has been set
up in Jaipur.

C. The beneficiaries of Stand Up India Scheme
include SC, ST and Women.

The incorrect statement from the above is-

[1] A only [2] B only

[3] C only [4] None of the above

[5] Question Not Attempted

Sol. [4]

Command and Control Center (ABHAY):
Abhay command centers have been set up in 7
divisional headquarters and 26 districts for
integrated solution of CCTV and CCTV camera
based security.

Beneficiary  in stand up India Scheme:
Scheduled Castes, Scheduled Tribes and
Women Entrepreneurs.
The overall objective of the scheme is to provide
credit facilities ranging from Rs.10 lakh to Rs.1
crore to the unserved population of the
institutional credit structure. This loan has to
be repaid in a period of 7 years, which is given
to  SC/ST and women entrepreneurs for setting
up green field enterprises in non-agriculture
sector.

75. Arrange the most urbanized districts of

Rajasthan in descending order in terms of

urban population-

A. Jaipur B. Jodhpur

C. Barmer D. Dungarpur

[1] A, B, C, D [2] A, B, D, C

[3] B, A, C, D [4] D, C, B, A

[5] Question Not Attempted

Sol. [1]
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76.
(RGHS)

[1] 1 2022 

[2]

[3] 1 2004 

[4]

[5]

Sol. [1]

RGHS 1 2021

77.

A. 2019

B. 2020

C. 2020

D. 2023

[1] A B [2] B D

[3] C D [4] B, C, D

[5]

Sol. [*]

2022

78. 2022-23 

[1] 25870 

[2] 24895 

[3] 26830 

[4] 24870 

[5]

Sol. [1]

79.

[1] [2]

[3] [4]

[5]

Sol. [3]

80.

76. Which of the following is not a feature of
Rajasthan Government Health Scheme
(RGHS)-
[1] It was launched on 1 July 2022.
[2] The registration under this scheme can be

done through Jan Aadhaar.
[3] Under this scheme government employees

appointed on 1 January 2004 and thereafter
are eligible to avail unlimited cashless
medical benefits.

[4] Rajasthan Government Health Scheme is
completely online automated paperless
based system.

[5] Question Not Attempted

Sol. [1]

Start of RGHS - 1st July 2021

77. Which of the following pairs are mismatched?

A. Rajasthan Agro Processing Policy - 2019

B. Rajasthan Tourism Policy - 2020

C. M-Sand Policy - 2020

D. Rajasthan Film Tourism Promotion Policy - 2023

[1] A and B [2] B and D

[3] C and D [4] B, C, D

[5] Question Not Attempted

Sol. [*]
Film Tourism Promotion Policy - 2022

78. According to Economic Review 2022-23, the

for revenue deficit of Rajasthan is-

[1] Rs 25870 crore

[2] Rs 24895 crore

[3] Rs 26830 crore

[4] Rs 24870 crore

[5] Question Not Attempted

Sol. [1]

79. By which country was the cyclonic storm

Biparjoy formed in the Arabian Sea named?

[1] India [2] Sri lanka

[3] Bangladesh [4] China

[5] Question Not Attempted

Sol. [3]

80. Pointing towards a woman in a photograph
Vijay said, “She is the daughter of the father
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of my brother's sister ”. How is the lady in
the photograph related to Vijay?

[1] Wife [2] Mother
[3] Sister [4] Daughter
[5] Question Not Attempted

Sol. [3]

Women’s Father  

Woman  
Vijay’s 
Brother’s 
Sister  

Vijay’s 
Brother 

Vijay  

81. Mamta walks 14 metres towards west, then
turns to her right and walks 14 metres and then
turns to her left and walks 10 metres. Again
turning to her left she walks 14 metres. What
is the shortest distance (in metres) between
her starting point and her present position?

[1]38 m [2] 28 m.

[3]24 m [4] 10 m.

[5] Question Not Attempted

Sol. [3]

1
4
m

.

10m.

14m. Starting 
Point

Present 
Position

10m.

1
4
m

.

Distance between Mamtha's starting point and
present position is = 14m + 10m = 24 m

82. If CUSTOM is written as UCTSMO then
how PARENT will be written in the same
code ?

[1]ERAPTN [2] TNERAP

[3]RAPTNE [4] APERTN

[5] Question Not Attempted
Sol. [4]

U     C     T     S     M     O 

C     U     S     T     O     M 

Similarly,

[1] [2]

[3] [4]

[5]
Sol. [3]

Women’s Father  

Woman  
Vijay’s 
Brother’s 
Sister  

Vijay’s 
Brother 

Vijay  

81. 14 

14 

10 

14 

[1]38 [2] 28 

[3]24 [4] 10 

[5]

Sol. [3]

1
4
m

.

10m.

14m. Starting 
Point

Present 
Position

10m.

1
4
m

.

= 14  + 10  = 24 

82.  CUSTOM UCTSMO 

PARENT 

[1]ERAPTN [2] TNERAP

[3]RAPTNE [4] APERTN

[5]
Sol. [4]

U     C     T     S     M     O 

C     U     S     T     O     M 

Similarly,
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A     P     E     R     T     N 

P     A     R     E     N     T 

83. Find the missing number from the given
responses in the following question.

4 3

25

9 11

202

1 7

?

[1]100 [2]75
[3]25 [4]50
[5] Question Not Attempted

Sol. [4]
In first figure 4²+3²=25
In 2nd figure 9²+11²=202
In 3rd figure 1²+7²=50

84. In  the following questions, Identify the diagram
that represents the best relationship among classes
given below:
Women, Sisters and Wives

[1] [2]

[3] [4]

[5] Question Not Attempted
Sol. [4]

Some sisters may be wives and the opposite is
also true. Both, sisters and wives belong to the
category of women.

Women

Sisters Wives

Directions : Question given below consists of a
statement, followed by two arguments numbered
A and B. You have to decide which of the
arguments is a 'strong' argument and which is a
'weak' argument.
85. Statement

Should the educated unemployed youth be
paid “unemployment allowance” by the
Government?
Arguments:
A. Yes, it will provide them some monetary help

to either seek employment or to kickstart
some'self-employment' venture.

B. No, it will dampen their urge to do
something to earn their livelihood and thus
promote idleness among the unemployed
youth.

[1] If only argument A is strong.
[2] If only argument B is strong.
[3] If neither A nor B is strong.
[4] If both argument A and B are strong.
[5] Question Not Attempted

A     P     E     R     T     N 

P     A     R     E     N     T 

83.

4 3

25

9 11

202

1 7

?

[1]100 [2]75
[3]25 [4]50
[5]

Sol. [4]
 4²+3²=25
 9²+11²=202
 1²+7²=50

84.

[1] [2]

[3] [4]

[5]
Sol. [2]

Women

Sisters Wives

: A 
B 

85.

A.

B.

[1] A 
[2] B 
[3] A B 
[4] A B 
[5]
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Sol. [4]

Young people, who do not get employment
due to the large number of applicants in all
fields, must surely be given allowance so
that they can support themselves.  so, argu-
ment A is valid.  However, such allowances
would mar the spirit to work, in them and
make them idle.  So, argument B  also holds.

Directions: Below question are given two state-
ments (A) and (B). These statements may be ei-
ther independent causes or may be effects of in-
dependent causes or a common cause. One of these
statements may be the effect of the other statement.
Read both the statements and decide which of the
following answer choice correctly depicts the re-
lationship between these two statements.

86. A. Majority of the students in the college ex-
pressed their opinion against the college
authority’s decision to break away from the
university and become autonomous.

B. The university authority has expressed its
inability to provide grants to its constitu-
ent colleges.

[1] If statement (A) is the cause and statement
(B) is its effect.

[2] if statement (B) is the cause and statement
(A) is its effect.

[3] if both the statements (A) and (B) are
independent causes.

[4] if both the statements (A) and (B) are
effects of independent causes.

[5] Question Not Attempted

Sol. [2]

‘A’ is the result of the resentment caused by
the inability of the university authority. Thus,
‘B’ is the cause and ‘A’ is its effect.

Direction :- Question below is given a statement
followed by two assumptions numbered A and
B. An assumption is something supposed or taken
for granted. You have to consider the statement
and the following assumptions and decide which
of the assumptions is implicit in the statement.

Sol. [4]

A 

B 

A B

86. A.

B.

[1] A B

[2] B A

[3] A B

[4] A B

[5]

Sol. [2]

'A'
'B' 'A'

 - 

A B 

.
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87.

A.

B.

[1] A 

[2] B 

[3] A B 

[4] A B 

[5]

Sol. [2]

A 

B 

88.

A B 

A.

B.

[1] A

[2] B

[3] A B 

[4] A B

[5]

87. Statement:-

This year most of the shops and departmental
stores are offering prizes and discounts on
purchases to attract cust- omers.

Assumptions:-

A. The shops and departmental stores have so
far earned a lot of profit, so now they have
started sharing it with the customers.

B. Lots of goods are available but the sale is
not shooting up.  There is no cheer for the
customers.

[1]  If only assumption A is implicit.

[2]  If only assumption B is implicit.

[3]  If neither A nor B is implicit.

[4] If both A and B are implicit.

[5] Question Not Attempted

Sol. [2]

That someone has earned a lot is no reason
to share the profit margin with the
customers. So, A is not implicit. Clearly, the
offers have been announced to attract more
customers and boost up the sale. So, B is
implicit.

88. In the question two statements are given,
following by two conclusions, A and B. You
have to consider the  statements to true even
if it seems to be at variance from commonly
known facts. You have to decide which of the
given conclusions, if any, from the given
statements.

Statement:

Some wilds are carnivores,

All wild are lions.

Conclusion:

A. All carnivores are lions.

B. Some lions are carnivores.

[1] Only conclusion A follows

[2] Only conclusion B follows

[3] Both conclusion A and B follows

[4] Neither conclusion A nor B follows

[5] Question Not Attempted
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Sol. [2]

Wild

 Lion

Carnivores

Conclusion
[1]  [2] 

89.

[a] [b] 
[c] [d] 
[5]

Sol. [1]

Mahima

Chandra

Girdhar

SavitriRama

Sushma

Ravi

Shalini

90.

A. i.
B. ii.
C. iii.
D. iv.

A B C D A B C D
[1] iii iv i ii [2] iv iii i ii
[3] iii ii iv i [4] iii iv ii i
[5]

Sol. [4]
91.

[1]

[2]

[3]

[4]

[5]

Sol. [2]

Wild

 Lion

Carnivores

Conclusion

[1]  [2] 
89. A group of friends are sitting in an

arrangement one each at the corner of an
octagon. All are facing the centre. Mahima is
sitting diagonally opposite Rama, who is on
Sushma's right. Ravi is next to Sushma and
opposite Girdhar, who is on Chandra's left.
Savitri is not on Mahima's right but opposite
Shalini. Who is on Shalini's right?
[a] Ravi [b] Mahima
[c] Girdhar [d] Rama
[5] Question Not Attempted

Sol. [1]

Mahima

Chandra

Girdhar

SavitriRama

Sushma

Ravi

Shalini

90. Match the following pairs -
Dance Tribe

A. Ghumra i Meo
B. Gaur ii. Kathodi
C. Mavaliya iii. Bheel

D. Ratvai iv. Garasiya

A B C D A B C D

[1] iii iv i ii [2] iv iii i ii

[3] iii ii iv i [4] iii iv ii i
[5] Question Not Attempted

Sol. [4]
91. Which of the following statements is a

incorrect statement-
[1] Jain Temple  of  Sewadi (Pali) is the oldest

temple of Bhumij style in Rajasthan.
[2] Ranakpur Jain Temple is dedicated to

Rishabhadev (Adinath).
[3] Harshat Mata Temple at Abhaneri was

originally a Vishnu temple.
[4] Eklingji Temple (Udaipur) is called

'Khajuraho of Mewar'.
[5] Question Not Attempted
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Sol. [4]

92.

A. i.

B. ii.

C. iii. W.G. 

A B C A B C

[1] i ii iii [2] ii iii i

[3] ii i iii [4] iii ii i

[5]

Sol. [3]

93.

[1]

[2]

[3]

[4]  

[5]

Sol. [4]

7 

94.

A. i.

B. ii.

C. iii.

D. iv.

A B C D A B C D

[1] i ii iii iv [2] iv iii ii i

[3] ii i iii iv [4] iii iv i ii

[5]

Sol. [1]

Sol. [4]

Ambika Mata Temple (Jagat, Udaipur) is called
‘Khajuraho of Mewar’.

92. Match the following-
A. Mewar Painting 1. Eric Dickinson,

Fayaz Ali
B. Kishangarh 2. Dr. Motichandra,

Painting Sridhar Andhare
C. Bundi- 3. Pramod Chandra,

Kota painting W.G. Archer

A B C A B C

[1] i ii iii [2] ii iii i

[3] ii i iii [4] iii ii i
[5] Question Not Attempted

Sol. [3]

93. The committee formed for the merger of Abu-
Delwara in Rajasthan was-

[1] B.R. Patel Committee

[2] Sankardevrao Committee

[3] Satyanarayana Rao Committee

[4] Jinvijay Suri Committee

[5] Question Not Attempted

Sol. [4]

Jinvijay Suri Committee was formed during the
7th phase of unification. Whose member was
Dashrath Sharma.

94. Match the following-

Folk Song Relation

A. Dhamaal i. Festival

B. Mayra ii. Sanskar

C. Badli iii. Seasons

D. Harjas iv. Religious

A B C D A B C D

[1] i ii iii iv [2] iv iii ii i

[3] ii i iii iv [4] iii iv i ii

[5] Question Not Attempted

Sol. [1]
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95.

A. i.

B. ii.

C. iii.

D. iv.

A B C D A B C D

[1] i ii iii iv [2] ii i iv iii

[3] iii iv i ii [4] iv ii i iii

[5]

Sol. [3]

96.

A. i.

B. ii.

C. iii.

D. iv.

A B C D A B C D

[1] iii iv i ii [2] iii iv ii i

[3] ii i iii iv [4] iv iii i ii

[5]

Sol. [2]

97.

[1]

[2]

[3]

[4]

[5]

Sol. [1]

95. Match the following -

Praja Mandal Leader

A. Karauli i. Amritlal Payak,
Chunni  Lal Prabhakar,
Thakkar Bapa

B. Kishangarh ii. Bhanwarlal Nigam
C. Pratapgarh iii.Trilok Chand Mathur,

Chiranjilal Sharma,
Madan Singh

D. Kushalgarh iv. Kantichand
Chauthani,
Jamanshah

A B C D A B C D

[1] i ii iii iv [2] ii i iv iii

[3] iii iv i ii [4] iv ii i iii

[5] Question Not Attempted

Sol. [3]

96. Match the following pairs?

Lok Goddess Temple

A. Amaja Mata i.  Bhinmal (Jalore)

B. Arbud Devi ii. Kota

C. Bhadana Mata iii.Reeched (Rajsamand)

D. Kshemkari Mata iv. Mount abu

A B C D A B C D

[1] iii iv i ii [2] iii iv ii i

[3] ii i iii iv [4] iv iii i ii

[5] Question Not Attempted

Sol. [2]

97. First excavation of Stone hand axe of
Paleolithic  period from Jaipur and Indragarh
was done by-

[1] C. A. Hackett

[2] Setonkar

[3] B. Allchin

[4] Virendra Nath Mishra

[5] Question Not Attempted

Sol. [1]

Setankar- Jhalawar, B-Alchin - Jalore, Virendra
Nath Mishra - Bagaur, Tilwara, Balathal, Ahar.
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98. At which place Arjunlal Sethi wrote books like
'Shudra Mukti', 'Stree Mukti', 'Mahendra
Kumar' etc?

[1] Jaipur [2] Ajmer
[3] Kota [4] Jodhpur
[5] Question Not Attempted

Sol. [2]

99. Select the mismatched pair-
[1] Jachak Jeevan - Pratap Raso
[2] Rai Kavi - Jaisingh Charitra
[3] Pundarik Ratnakar - Dooniprakash
[4] Jagannath - Mansingh Kirti

Muktavali
[5] Question Not Attempted

Sol. [3]

• Pratap Raso - Description of Rao Raja
Pratap Singh, the founder of Alwar State
(1770 AD)

•  Jaisingh Character - Information about the
personality and rule of Mirza Raja Jasingh.

• Dooniprakash – Composed by Pundarik
Vitthal.

• Jaisingh Kalpadrum – Composed by
Pundarik Ratnakar.

100. What is ‘Sarna’?
[1] a type of folk song in Rajasthan
[2] a right enjoyed by the feudatories
[3] an ornament prevalent in Rajasthan
[4] a type of land revenue tax
[5] Question Not Attempted

Sol. [2]
101. A. Bagru Print - Belbutta Printing

B. Sanganeri print - Use of black and Red
colors

C. Malir print - Use of blue and red
colors

D. Ajrakh print - Use of black and red
colors

How many pairs are correctly matched?
[1] Only one pair [2] Only two pairs
[3] Only three pairs [4] No pair is matched
[5] Question Not Attempted

Sol. [2]

Malir print – use of black and brown colors

Ajrakh print – use of blue and red colors

98.

[1] [2]

[3] [4]  

[5]

Sol. [2]

99.

[1]

[2]

[3]

[4]  

[5]

Sol. [3]

• (1770 )

•

•

•

100.

[1]

[2]

[3]

[4]

[5]

Sol. [2]

101. A. -

B. -

C. -

D. -

[1] [2]  

[3] [4]

[5]

Sol. [2]
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102.

A. i.
B. ii.
C. iii.
D. iv.

A B C D A B C D

[1] iii iv ii i [2] iv iii ii i
[3] i iv iii ii [4] i ii iii iv
[5]

Sol. [3]

103.

[1] [2]

[3] [4]  
[5]

Sol. [2]

104.

[1] [2]

[3] [4]  
[5]

Sol. [1]

1541 

105.

I II 

A. i.
B. ii.
C. iii.
D. iv.

[1] [2]

[3] [4]  

[5]

Sol. [2]

102. Match the following-
Organization Founder

A. Marwar Hitkarini i. Chandmal Surana
Sabha

B. Sarva Seva Sangh ii. Manikyalal Verma
C. Mahila Shiksha iii. Haribhau Upadhyay

Sadan
D. Khandlai Ashram iv. Siddharaj Dhadha

A B C D A B C D

[1] iii iv ii i [2] iv iii ii i
[3] i iv iii ii [4] i ii iii iv
[5] Question Not Attempted

Sol. [3]
103. Who among the following was not a court

scholar of Jodhpur King Jaswant Singh?
[1] Suratmishra [2] Dayaldas
[3] Narharidas [4] Naveen Kavi
[5] Question Not Attempted

Sol. [2]

Dayaldas was the court scholar of Bikaner ruler
Ratan Singh. He had composed ‘Bikaner Ra
Rathoda Ri Khyat’.

104. During the battle of Paheba, whom did Rao
Jaitsi send to Sher Shah Suri to get help
against Maldev?
[1] Nagraj
[2] Raj Singh Kumpawat
[3] Kalyanmal
[4] Bithu Sooja
[5] Question Not Attempted

Sol. [1]
The battle of Paheba took place between
Maldev and Rao Jaitsi in 1541 AD.

105. Consider the following pairs
List-I (Book) List-II (Author)

A. Sagat Raso i. Girdhar Aasian
B. Khuman Raso ii. Dalpat Vijay
C. Vijaypal Raso iii. Vijayadaan Detha
D. Ranmal Chhand iv. Keshavdas Gadan
How many of the above pairs are correctly
matched?
[1] Only one pair [2] Only two pairs
[3] Only three pairs [4] All Four pairs
[5] Question Not Attempted

Sol. [2]

Book Writer

Vijaypal Raso - Nallsingh
Ranmal Chhand - Sridhar Vyas
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106.

[1] 17 : 
[2] 18 : 
[3] 14 : 
[4] 15 : 

[5]

Sol. [4]

16 
107.

[1]

[2]

[3] 1/10 

[4]

[5]

Sol. [1]
103

108.

[1]

[2]

[3]

[4]

[5]

Sol. [1]

109.

A.
B.
C.
D.

[1] B, A, D, C [2] D, C, B, A
[3] B, C, D, A [4] D, A, B, C
[5]

106. The mismatched pair among the following
is-
[1] Article-17: Abolition of untouchability
[2] Article-18: Abolition of titles
[3] Article-14: Equal protection of law
[4] Article-15: Equality of opportunity in the

matter of public employment
[5] Question Not Attempted

Sol. [4]
Article-16: Equality of opportunity in the
matter of public employment

107. Which of the following statement is not cor-
rect?
[1] The disqualification of MPs is decided by

the Election Commission of India.
[2] If an MP acquires the citizenship of a for-

eign state, he will be disqualified as an MP.
[3] According to consitution, it is necessary to

have 1/10 member for quorum.
[4] The President's representative administers

the oath to the MPs according to the for-
mat of Third Schedule.

[5] Question Not Attempted
Sol. [1]

Under Article 103, the President decides on the
disqualification of MPs (on the advice of the
Election Commission).

108. Whom do the words “We the people of India,
adopt, enact and give to ourselves this
Constitution” declare?
[1] Supreme sovereignty of the people of India
[2] Representative democracy
[3] Political justice
[4] Democratic society
[5] Question Not Attempted

Sol. [1]
These words declare the supreme sovereignty
of the people of India and indicate that the
basis of the Constitution is the authority of
those people.

109. Consider the following events:
A. Fourth general elections in India
B. Formation of Haryana state
C. Mysore named as Karnataka state
D. Meghalaya and Tripura become full states
Which one of the following is the correct
chronological order of the above?

[1] B, A, D, C [2] D, C, B, A
[3] B, C, D, A [4] D, A, B, C
[5] Question Not Attempted
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Sol. [1]

1966

1967

1972

1973

110.

A.

B.

C.

[1] A C [2] B C

[3] A B [4] A, B C

[5]

Sol. [4]

111.

A.

B. 1969 

C. 75 

[1] A C [2] B

[3] B C [4] A, B C

[5]

Sol. [2]

16

10

Sol. [1]

Statehood of Haryana - 1966

Fourth general election in India - 1967

Full statehood of Meghalaya and Tripura -
1972

Mysore State renamed as Karnataka - 1973
110. Consider the following statements about the

President of India:
A. The President has the right to address and

send message to the council of Ministers to
elicit specific information

B. The President can call for information
relating to proposals for legislation

C. All decisions of the Council of Ministers
relating to administration of the Union
must be communicated to the President

Which of the statements given above are
correct?

[1] A and C only [2] B and C only
[3] A and B only [4] A, B and C

[5] Question Not Attempted

Sol. [4]

All the above statements are true.
111. Consider the following statements:

A. In the first Lok Sabha, the single largest
party in the opposition was the Swatantra
Party.

B. In the Lok Sabha, a "Leader of the
Opposition" was recognized for the first
time in 1969.

C. In the Lok Sabha, if a party does not have a
minimum of 75 members, its leader cannot
be recognized as the Leader of the
Opposition.

Which of the statements given above is/are
correct?
[1] A and C only [2] B only
[3] B and C only [4] A, B and C
[5] Question Not Attempted

Sol. [2]
The largest political party in the opposition in
the first Lok Sabha was the Communist Party
of India. It got 16 seats.
If the members of any party in the Lok Sabha
are more than 10% of the total members of the
Lok Sabha, only then the leader of that party
gets the status of the Leader of the Opposition.
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112. A.

B.

C.

D. 368 

[1] A, B [2] A, B, C

[3] A, B, C, D [4] B, C, D

[5]

Sol. [1]

368

1.

2.

368

113.

A.

B.

C.

[1] A [2] B

[3] C [4]

[5]

Sol. [4]

112. A. A rigid Constitution is one that requires
special procedure for its amendment.

B. A flexible constitution is one that can be
amended in the same manner as ordinary
law.

C. The constitution of India is flexible.

D. Under Article 368, some provisions  can be
amended by simple majority.

Correct statement is/are-

[1] A, B [2] A, B, C

[3] A, B, C, D [4] B, C, D

[5] Question Not Attempted

Sol. [1]
Statement one and statement two are true.
The Constitution of India is neither flexible nor
rigid but it is a combination of both. Article
368 provides for two types of amendments –
1. Some provisions can be amended by a

special majority in the Parliament, such as
a two-thirds majority of the members
present and voting in both the Houses and
a majority of the total members in each
House.

2. Some other provisions can be amended
only with the approval of the special
majority of the Parliament and more than
half of the total number of states.
In addition, some provisions of the
constitution can be amended through a
simple majority in the parliament, as in the
normal legislative process. That is, under
Article 368, amendment cannot be done by
simple majority.

113. Consider the following statements-

A. Constituent assembly adopted elephant as
it's symbol.

B. Original Indian constitution is hand written
by Prem Bihari Narain Raizada.

C. S.N. Mukerjee was appointed the Chief
draftsman of the constitution.

Which of the above is/are incorrect?

[1] A only [2] B only

[3] C only [4] None of these

[5] Question Not Attempted

Sol. [4]

All the above three statements are correct.
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114.
A. 127 : 
B. 130 : 

C. 134 

D. 136 : 

[1] [2]
[3] [4]

[5]

Sol. [2]
127 : 
130 : 
126 
129 

115.

A.

B.

C.

[1] A B [2] B C

[3] [4] A C

[5]

Sol. [2]

116.

[1] [2]

[3] [4]

[5]

114. Select the number of mismatched pairs-
A. Article 127: Appointment of the acting Chief

Justice
B. Article 130: Supreme Court to be Court of

Record
C. Article 134[A]: Certificate for appeal to the

Supreme Court
D. Article 136: Special leave to appeal by the

Supreme Court
[1] Only one pair [2] Only two pairs
[3] Only three pairs [4] No pair
[5] Question Not Attempted

Sol. [2]
Article 127: Appointment of Ad-hoc Judges
Article 130: Seat of the Supreme Court
Article 126: Appointment of Acting Chief
Justice
Article 129: The Supreme Court to be a court
of record.

115. Select the correct statement/statements
regarding the Comptroller and Auditor
General  using the codes-
A. Its salary and pension are similar to that of

the Chief Justice of the Supreme Court.
B. The CAG can be removed only under the

process of removal of judges of the
Supreme Court.

C. The administrative expenses of the office
of the CAG are charged on the
Consolidated Fund of India.

[1] A and B only [2] B and C only
[3] All of the above [4] Only A andC
[5] Question Not Attempted

Sol. [2]

The salary and pension of the CAG is similar
to that of the judges of the Supreme Court.

The process of removal is similar to that of the
judges of the Supreme Court.The
administrative expenses of the office of the
CAG, including all salaries, allowances and
pensions payable to or in respect of persons
serving in that office, shall be charged on the
Consolidated Fund of India.

116. To whom does the Central Information
Commission submit its annual report?

[1] President [2] Central Government

[3] Governor [4] Prime Minister

[5] Question Not Attempted
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Sol. [2]

25 

117.

A.

B.

C.

D.

E.

[1] A, B D [2] A, B E

[3] A, C D [4]

[5]

Sol. [3]

1. 2.

3.

118

A.

B.

C.

[1] A [2] B

[3] C [4] B C

 [5]

Sol. [2]

Sol. [2]
Section 25 of the Right to Information Act : at
the end of every year, the Central Information
Commission submits the report to the Central
Government and the State Information
Commission to the concerned State
Government.

117. The recommendation committee for the
appointment of the Central Vigilance
Commissioner and Vigilance Commissioners
includes-

A. Prime Minister
B. Speaker of the Lok Sabha
C. Union Home Minister
D. Leader of the Opposition in the Lok Sabha
E. Rajya Sabha Deputy Chairman
[1] A, B and D only [2] A, B and E only
[3] A, C and D only [4] All of the above

[5] Question Not Attempted

Sol. [3]

The Central Vigilance Commissioner and the
Vigilance Commissioners are appointed by the
President of India on the recommendations of
a committee consisting of-

1. Prime Minister  2. Union Home Minister

3. Leader of the Opposition in the Lok Sabha

118. The consequences of proclamation of
President’s rule in a state includes-
A. Dissolution of local bodies.
B. Removal of the Council of Ministers of

State.
C. Dissolution of the State Legislative

Assembly.
[1] A only [2] B only
[3] C only [4] B and C only

 [5]Question Not Attempted

Sol. [2]

After the declaration of President's rule in the
state, the Council of Ministers of the state
automatically dissolves and the executive
powers of the state come to the President,
which he hands over to his representative.

The state legislature is either suspended or
may be dissolved.

Local bodies are not dissolved.
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119. 377

[1] 1966 

[2]

[3]

[4] 20 

[5]

Sol. [3]

1966 377 

120.

[1] [2]

[3] [4]

[5]

Sol. [1]

(2013)
(2013 - 14)

121.

[1]

[2]

[3]

[4]

[5]

Sol. [4]

119. With respect to ‘Rule 377’, identify the
inconsistent one among the following
statements-

[1] This is a rule of the Lok Sabha, which was
used for the first time in the year 1966.

[2] Under this subjects of public importance are
raised.

[3] The presence of the minister is mandatory
during the discussion in it.

[4] Under it 20 questions can be raised daily

[5] Question Not Attempted

Sol. [3]
Rule 377 introduced in 1966 is a rule of the Lok
Sabha. Matters of public importance which
have not been raised during the Question
Hour, Calling Attention Motion and Short
Duration Discussion can be raised under this
rule. It is not necessary for the minister to be
present during the discussion and it is not
necessary for him to make a statement.

120. The first woman Chief Information
Commissioner in the Central Information
Commission was-
[1] Deepak Sandhu [2] Sushma Singh
[3] Vanaja M Sarna [4] Vandana Sharma
[5] Question Not Attempted

Sol. [1]
Central Information Commission-

First Woman Chief Information Commissioner
- Mrs. Deepak Sandhu (2013) Other Woman
Chief Information Commissioner - Mrs.
Sushma Singh (2013 - 14)

121. Constitutional government means?

[1] A representative government of a nation
with  federal structure

[2] A government whose Head enjoys nominal
powers

[3] A government whose Head enjoys real
powers

[4] A government limited by the terms of the
Constitution

[5] Question Not Attempted

Sol. [4]

The government confined within the limits of
the constitution is called constitutional
government.
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122. With reference to Pradhan Mantri Jeevan
Jyoti Bima Yojana (PMJJBY), consider the
following statements-
A. Persons in the age group of 18-50 years are

eligible for the scheme.
B. A person must have an individual savings

bank a/c  to enrol under the scheme.
C. It is a onetime accidental insurance scheme

i.e. there is no need to renew.
D. PMJJBY is coverage for death due to

chronic diseases.
Which of the statements given above are
incorrect-
[1] A and B only [2] A, B and D only
[3] B, C and D only [4] C and D only
[5] Question Not Attempted

Sol. [4]
Persons having an individual bank or a post
office account are entitled to enrol under the
scheme.
It is a one-year life insurance scheme
renewable from year to year offering coverage
for death due to any reason.
Benefits: Life cover of Rs. 2 Lakh in case of
death due to any reason against a premium of
Rs. 436/- per annum.

123. GOAL 2.0 is related to which ministry
[1] Ministry of Rural Development
[2] Ministry of Health and Family Welfare
[3] Ministry of Tribal Affairs
[4] MINISTRY OF WOMEN AND CHILD

DEVELOPMENT
[5] Question Not Attempted

Sol. [3]
GOAL Programme (GOAL 2.0)
Objective :- To promote entrepreneurship and
create employment opportunities through
digital technology by providing digital skills
to tribal youth.
By Ministry of Tribal Affairs and Meta
(Facebook)

124. Choose the correct statements from the
following related to PM Shri Yojana-
A. The full form form of PM Shri is the

Pradhan Mantri Schools for Rising India
(PM-SHRI) Scheme

B. The objective of this scheme is to transform
14,500 schools into model institutions to
achieve the objectives of National
Education Policy, 2020.

Code :
[1] Only B [2] Only A
[3] Both A and B [4] Neither A nor B
[5] Question Not Attempted

122. PMJJBY

A. 18-50 

B.

C

D PMJJBY

[1] A B [2] A B D
[3] B C D [4] C D
[5]

Sol. [4]

123. GOAL 2.0
[1]
[2]
[3]
[4]
[5]

Sol. [3]
GOAL 2.0

124.

A.
PM-SHRI

B. 2020
14,500

[1] B [2] A
[3] A B [4] A B
[5]
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Sol. [3]

125.

A.

B.

C.

[1] A B

[2] B C

[3] A C

[4]

[5]

Sol. [3]

126.

A. 2035

B.

C. ARISE-

[1] A B [2] B C

[3] A C [4]

[5]

Sol. [4]

[1]

[2]

[3] ARISE-ANIC

Sol. [3]
125. Choose the correct statements related to

Agriculture Infrastructure fund

A. The objective of this fund to strengthen the
Agriculture infrastructure in the whole
nation.

B. It is a Central sponsored scheme.
C. The implementing agency of this fund is

NABARD.
Code-
[1] Only A and B
[2] Only B and C
[3] A and C only
[4] All of the above

[5] Question not attempted

Sol. [3]

It is a Central Sector scheme
Beneficiary :- Farmers, Primary Agricultural
Credit Societies (PACS), Farmer Producers
Organisations (FPOs), Self Help Groups
(SHG),  State Agencies/APMCs

126. Which of the following programs are
implemented by NITI Aayog
A. Vision 2035
B. National Program and Project

Management Policy Framework
C. Aatmanirbhar Bharat ARISE-Atal New

India Challenge
Code-
[1] Only A and B
[2] Only B and C
[3] A and C ONLY
[4] All of the above
[5] Question not Attempted

Sol. [4]
[1] NITI Aayog released a white paper: Vision

2035: Public Health Surveillance in India
with the vision

[2] NITI Aayog, QCI Launch National
Program and Project Management Policy
Framework Initiative to Transform
Infrastructure Sector in India

[3] The Aatmanirbhar Bharat ARISE-ANIC
program is a national initiative to promote
research & innovation and increase
competitiveness of Indian startups and
MSMEs.
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127

A

B

[1] A [2] B

[3] A B [4] A B

[5]

Sol. [3]

128

[1] [2]

[3] [4]

[5]

Sol. [2]

129

A.

B.

C.

[1] A [2] B

[3] C [4]

[5]

Sol. [4]

127. Consider the following statements regarding
goods and Services Tax?

A. This has reduced the number of taxes.

B. There is no GST levied in the entire supply
chain in case of exports effectively.

Select the correct statement using the code
given below :

[1] A only [2] B only

[3] Both A and B [4] Neither A nor B

[5] Question not Attempted

Sol. [3]

GST has led to reduction in number of taxes
and now the same tax rate is applicable across
all the country on all goods and services. This
is called harmonization of taxes. On exports,
Govt credits back the GST paid to suppliers and
hence effectively there is no GST on exports in
the entire supply chain.

128. An auto worker in Jaipur lost his job because
the company relocated the plant to another
country represents an example of which type
of unemployment :

[1] Frictional [2] Structural

[3] Cyclical [4] Seasonal

[5] Question not Attempted

Sol. [2]
These kind of job losses are because the
economy is facing fundamental/structural
changes and that is why it is a structural  un-
employment.

129. The effects of fiscal deficit include-
A. Its increase increases the debt burden on the

government.
B. An increase in it reduces the creditworthi-

ness of the economy.
C. Its increase has a negative impact on for-

eign investment.
Select the incorrect statement from the above-
[1] A only [2] B only
[3] C only [4] None of the above
[5] Question not Attempted

Sol. [4]
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130

A

B

C

[1] A [2] A B

[3] B C [4] A C

[5]

Sol. [2]

131.

[1] 1 2023
[2] 28 2023
[3] 14 2023
[4] 23 2023
[5]

Sol. [2]

132. 18

[1] [2]

[3] [4]

[5]

Sol. [3]

9-13 2023 18 

130. Which of the following will be the outcome
if an economy is under the inflationary pres-
sure?

A. Domestic currency heads for depreciation

B. Exports become less competitive with im-
ports getting constlier

C. Cost of borrowing decreases

Select the correct statement using the code
given below :

[1] A only [2] A and B only

[3] B and C only [4] A and C only

[5] Question not Attempted

Sol. [2]

Economy under inflationary pressure means
inflation is either increasing or there is possi-
bility  that it will increase.

Inflation leads to depreciation of currency.

Inflation makes domestice goods costly and
exports become less competitive.

At the time of inflation in the domestive
economy imports become costlier because of
domestic currency depreciation.

When inflation increases then interest rate goes
up in the economy and cost of borrowing in-
creases.

131. On which date the new Parliament building
dedicated to the nation?

[1] 1 June, 2023

[2] 28 May, 2023

[3] 14 July, 2023

[4] 23 August, 2023

[5] Question Not Attempted

Sol. [2]

132. Where was the 18th World Sanskrit
Conference organized?

[1] New York [2] New Delhi

[3] Canberra [4] Tokyo

[5] Question Not Attempted

Sol. [3]

The 18th World Sanskrit Conference was
organized in Canberra (Australia) from 9-13
January 2023.
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133. 2023 

[1]

[2]

[3]

[4]

[5]

Sol. [*]

134.

[1] [2]

[3] [4]

[5]

Sol. [3]

135. 2022 

A.

B. 85

[1] A [2] B

[3] A B [4] A B

[5]

Sol. [4]

136. 1000

[1] [2]

[3] [4]

[5]

Sol. [4]

137. 2023

[1] 100 [2] 125 

[3] 150 [4] 200 

[5]

133. Who has been made the brand ambassador
of the Cricket World Cup 2023 to be held in
India?

[1] Sunil Gavaskar

[2] Shahrukh Khan

[3] Amitabh Bachchan

[4] Kapil Dev

[5] Question Not Attempted

Sol. [*]

134. Which is the first city to track progress on
Sustainable Development Goals?

[1] New Delhi [2] Indore

[3] Bhopal [4] Jaipur

[5] Question Not Attempted

Sol. [3]

135. Consider the following statements in the
context of Corruption Perception Index, 2022-

A. It is published by Transparency International.

B. India's rank in this index was 85th.

Which of the above statements is wrong-

[1] A only [2] B only

[3] Both A and B [4] Neither A nor B

[5] Question Not Attempted

Sol. [4]

136. Against which team has the Indian cricket
team played its 1000th ODI match?

[1] South Africa [2] Australia

[3] Sri Lanka [4] West Indies

[5] Question Not Attempted

Sol. [4]

137. How many days of assured employment have
been prescribed in the Rajasthan State
'Minimum Income Guarantee Bill 2023'?

[1] 100 days [2] 125 days

[3] 150 days [4] 200 days

[5] Question Not Attempted
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Sol. [2]
2023 

125 

138. 2023

[1] [2]

[3] [4] [2] [3] 
[5]

Sol. [1]
2023

139.

[1] [2]

[3] [4] [1] [2] 
[5]

Sol. [4]

140. ICC-

[1] [2]

[3] [4]

[5]
Sol. [1]

ICC 

141. G20 

A. G20 18

B.
C.

D.

[1] [2]

[3] [4]

[5]

Sol. [2]
This bill was passed in the month of July, 2023.
Rajasthan is the first state in the country to pass
such a bill.
Under this, 125 days of employment will be
provided every year to rural and urban
families.

138. Who became the first Indian man to win the
title of Malaysian Masters Badminton
Tournament, 2023 recently?
[1] H.S. Prannoy [2] Satwik Sairaj
[3] Chirag Shetty [4] Both [2] and [3]
[5] Question Not Attempted

Sol. [1]
H.S. Prannoy is the first Indian man to win the
Malaysia Masters badminton tournament, 2023
in man singles. Saina Nehwal and P.V. Sindhu
have also won this title.

139. Which African country was/were in the news
recently due to a military coup?
[1] Niger [2] Gabon
[3] Republic of Congo[4] Both [1] and [2]
[5] Question Not Attempted

Sol. [4]
Niger and Gabon were in the news due to their
recent military coups.

140. Which country won the 2nd ICC-World Test
Championship?
[1] Australia [2] England
[3] India [4] South Africa
[5] Question Not Attempted

Sol. [3]
Australia defeated India to win the second ICC
World Test Championship.
“Its final took place at the Oval (London).

141. Consider the following statements regarding
the recent G20 conference held in India-
A. This was the 18th edition of G20 and the

first to be held in India.
B. India has transferred the chairmanship to

Argentina.
C. Its Delhi declaration was unanimously

accepted.
D. The African Union joined as a new member

country.
How many of the above statements are
correct?
[1] One only [2] Two only
[3] Three only [4] All four
[5] Question Not Attempted
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Sol. [3]

26 1999;  2008 

G20 19 + 

( ), 

142. - 3 

A.

B.

C. - 3 

[1] A

[2] A B

[3] B C

[4]

[5]

Sol. [4]

•

•

•

-3 

•

143.

[1]

[2]

[3]

[4]

[5]

Sol. [2]

Sol. [3]

India has handed over the presidency to Brazil
for the next session.

Its summits started from inception on
September 26, 1999 to 2008.

The G20 includes 19 countries and one group,
the European Union. United States, Canada,
Mexico, Brazil, Argentina, South Africa, Saudi
Arabia, Türkiye, Italy, England, Germany,
France, European Union (EU), India, Russia,
China, South Korea, Japan, Indonesia,
Australia.

The African Union has been included as a new
member in the recent conference held in India.

142. Consider the following statements in the
context of Chandrayaan-3 mission-

A. Its Mission Director was Mohan Kumar and
Project Director was Veermuthuvel .

B. Its landing point was named Shivshakti.
C. Sushmita Choudhary from Rajasthan was

included in Chandrayaan-3 mission.
Choose the correct statement from the above-

[1] A only
[2] A and B only
[3] B and C only
[4] All statements are correct
[5] Question Not Attempted

Sol. [4]

• Mission Director – Mohan Kumar
• Project Director – Veeramuthuvel
• ISRO Chief – Shridharan Somnath

Women involved in Chandrayaan-3
mission from Rajasthan

• Sushmita Chaudhary and Sunita Kumari.
143. What is the objective of Mission Start of

Rajasthan Government?
[1] Rural transformation
[2] Conducting e-classes in schools
[3] Empowerment of women
[4] Digitization of Panchayats
[5] Question Not Attempted

Sol. [2]
The objective of Mission Start is to conduct e-
classes in schools.
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144. 2023 

[1]

[2]

[3]

[4]

[5]

Sol. [1]

2023 

145. A

[1]

[2] NASA 

[3]

[4]

[5]

Sol. [1]

A

146. M4

[1] [2]

[3] [4]

[5]

Sol. [4]

M4

M4 

1500 

144. Who was honored with the National Teacher
Award 2023?

[1] Dr. Sheela Asopa and Asharani Suman

[2] Neera Singh

[3] Gauri Maheshwari

[4] All of the above

[5] Question Not Attempted

Sol. [1]

Dr. Sheela Asopa and Asharani Suman were
honored with the National Teacher Award,
2023.

Neera Singh was honored with the Influential
Teacher Award.

Gauri Maheshwari was given the National
Children's Award for Calligraphy.

145. What is “Sagittarius A” which was in the
news recently?

[1] Black hole of the Milky-way galaxy

[2] NASA's mission to the Moon

[3] New planet discovered recently .

[4] None of the above

[5] Question Not Attempted

Sol. [1]

“Sagittarius A” is a black hole located in the
Milky Way galaxy.

146. Recently, which country has announced to
manufacture its weapon system named “Carl-
Gustaf M4” in India?

[1] America [2] Russia

[3] France [4] Sweden

[5] Question Not Attempted

Sol. [4]

“Carl-Gustaf M4” is a Swedish weapon system
which will be manufactured in India.

The M4 weapon system is capable of firing a
variety of ammunition including anti-armour
and illumination rounds. It has a maximum
range of 1500 metres.



Page 51

147.

[1]
[2]
[3]
[4]
[5]

Sol. [1]
148.

[1] [2]
[3] [4]
[5]

Sol. [1]
149.

A. B.
C. D.
[1] A [2] B
[3] C [4] D
[5]

Sol. [2]

• 20%
9 2023

•

150.

A.

B. UAE, 

[1] A [2] B
[3] A B [4] A B 
[5]

Sol. [4]

•

•

•

147. Who was given the Sahitya Akademi Youth
Award for “Antas Ro Olmo”?
[1] Devi Lal Mahiya
[2] Kamal Ranga
[3] Kiran Badal
[4] Dr. Arjun Dev Charan
[5] Question Not Attempted

Sol. [1]
148. Where will the country's first Dam

Earthquake Safety Center be established?
[1] Jaipur [2] Dehradun
[3] Lucknow [4] Bhopal
[5] Question Not Attempted

Sol. [1]
149. Which of the following are not part of the

Global Biofuel Alliance?
A. Brazil B. Russia
C. India D. UAE
[1] A [2] B
[3] C [4] D
[5] Question Not Attempted

Sol. [2]
Global Biofuel Alliance
• India launched the Global Biofuels Alliance

on September 9, 2023 with the target of 20%
Ethanol Blending.

• India, Argentina, Bangladesh, Brazil, Italy,
Mauritius, South Africa, United Arab
Emirates and United States are included in
this initiative.

150. Consider the following statements in the
context of India-Middle East-Europe
Corridor-
A. It is a multi-modal connectivity medium of

sea, road and rail.
B. This includes India, America, France, UAE,

Saudi Arabia, Germany and Italy.
Select the correct statement from the above-
[1] A only [2] B only
[3] Neither A nor B [4] Both A and B
[5] Unanswered questions

Sol. [4]
India-Middle East-Europe Economic Corridor
• For this, MoU was signed between India,

United Nations America, Saudi Arabia,
European Union, United Arab Emirates,
France, Germany and Italy.

• It will connect India with the Middle East
and Europe by including all three modes
of rail-road-sea.

• This will be effective in intensifying goods
trade between these regions.
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DATE

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
3 2 2 3 3 4 3 2 * 1 3 3 4 4 4
16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
1 3 3 4 2 2 2 3 3 2 4 3 1 4 4
31 32 33 34 35 36 37 38 39 40 41 42 43 44 45
3 4 3 1 2 3 4 2 1 3 4 4 3 3 3
46 47 48 49 50 51 52 53 54 55 56 57 58 59 60
2 2 2 3 3 1 3 4 * 2 3 2 1 4 4
61 62 63 64 65 66 67 68 69 70 71 72 73 74 75
3 2 4 2 2 4 1 2 3 3 2 3 2 4 1
76 77 78 79 80 81 82 83 84 85 86 87 88 89 90
1 * 1 3 3 3 4 4 2 4 2 2 2 1 4
91 92 93 94 95 96 97 98 99 100 101 102 103 104 105
4 3 4 1 3 2 1 2 3 2 2 3 2 1 2

106 107 108 109 110 111 112 113 114 115 116 117 118 119 120
4 1 1 1 4 2 1 4 2 2 2 3 2 3 1

121 122 123 124 125 126 127 128 129 130 131 132 133 134 135
4 4 3 3 3 4 3 2 4 2 2 3 * 3 4

136 137 138 139 140 141 142 143 144 145 146 147 148 149 150
4 2 1 4 1 3 4 2 1 1 4 1 1 2 4

ANSWER KEY
                Complete Paper-IV {TEST CODE 907} 20 Sep. 2023
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